1． 计算 {{oadd1}} + {{oadd2}} = (   ) 时
先算：(    ) + (    ) = (    )
再算：(    ) + (    ) = (    )
2． 计算 {{padd1}} + {{padd2}} = (   ) 时
先算：(    ) + (    ) = (    )
再算：(    ) + (    ) = (    )
3． 计算 {{osub1}} - {{osub2}} = (    ) 时
先算：(    ) - (    ) = (    )
[bookmark: _GoBack]再算：(    ) - (    ) = (    )
4． 计算 {{qadd1}} + {{qadd2}} = (    ) 时
先算：(    ) + (    ) = (    )
再算：(    ) + (    ) = (    )
5． 计算 {{psub1}} - {{psub2}} = (    ) 时
先算：(    ) - (    ) = (    )
再算：(    ) - (    ) = (    )
6． 计算 {{qsub1}} - {{qsub2}} = (    ) 时
先算：(    ) - (    ) = (    )
再算：(    ) - (    ) = (    )
7. {{atower1}}  +  {{atower2}} = [image: 零件-02]
[image: 零件-01]
8. {{btower1}}  +  {{btower2}} = [image: 零件-02]
[image: 零件-01]
9. {{ctower1}}  -  {{ctower2}} = [image: 零件-02]
[image: 零件-01]
10. {{dtower1}}  -  {{dtower2}} = [image: 零件-02]
[image: 零件-01]
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